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Imtruchons. ;

(iv) In each of the questions 1 to 50, pick one of the alternatives from (1), (2), (3), (4), (5) which is correct

(i) Answer all questions.
(ii) Write your Index Number in’the space provided in the answer sheet.
(iii) Instructions are given on the back of the answer sheet. Follow those carefully.

or most appropriate and mark your response on the answer sheet with a cross (x) on the number
of the correct option in accordance with the instructions given on the back of the answer she:i.

1. Structure of a part of a polysaccharide molecule is shown in the diagram. What is the type of bond involved
in joining the monosaccharide molecules? a
CH,OH
(1) Peptide bonds (2) Hydrogen bonds ' (3) Disulphide: bonds
(4) Glycosidic bonds (5) ITonic bonds
2. Which of the following are faund only in plants?
(1) 80S rioosomes (2) Endoplasmic reticulum (3) Plasmids
| (4) Glyoxisomes (5) Goigi complex
li. Approximately what percentage of ATP is produced by the electron transport system in cellular aerobic
| respiration of glucose?
(1) 63% (2) 58% k! 3) 89% ) 11% (5) 79%
4. Which of the following is incorrect regarding glycolysis?
(1) ATP is produced, (2) ATP is utilized.
(3) NADI-I2 is produced, ()] CO2 is released.
(5) Occurs in the cytosol.
3. Which of the following structures can be seen in Phylum Mollusca as well as in Phylum Platyhelminthes?
e A
[ 4 i
9.8 i Dokl Boratel G (4) Chemoreceptors, tentacles, nephridia
S. Which of the
4 follo;vin.g. n@nu regarding the characteristic features of vertebrate classes with homoiothermic k
(1) All vertebrate classes with hmnoiothermic animals have vivi
us animal
(2) All vertebrate classes with uvoviwpamus animals have homc;'l::;?mmc anl:nals
Ei; ﬁ :encbuts c:mes with animals having nictitating membranes have homoiothermic animals.
e vmmbb::: clm with homoiothermic animals have animals ysith 12 pairs of cranial necves.
classes with animals showing internal fertilization have homoiothermic animals,
\ .
/
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[! Members of the Domain Archaea

(1) have cell walls which lack peptidoglycans.

(2) are ubiquitous.

(3) have only one type of RNA ‘polymerisec.

(4) are sensitive to many antibiotics.

(5) have cell membranes which contain unbranched lipids.

8. Which of the following is correct regerding the members of Ph)’l“m Rhodophytﬂ?
(1) They are either unicellular or multicellular.
¢ (2) Gontain chlorophylls, carotenes and xanthophylls.
(3) Reproductive cells do not have flagella.
(4) Cell walls contain cellulose and pectin.
(5) Mannitol is a stored food.

alpanthiya.lk
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9. Function of which one of the following enzymes of man cannot be substituted by any other enzyme:?

(1) Dipeptidase (2) Trypsin ‘ (3) Chymotrypsin
(4) Carboxypeptidase (5) Maltase
10. This question is based on the blood circulatory systems of the folloWing animals.
" a. Turtle b. Slug ¢c. Ichthyophis - d. Cockroach
e. Octopus f. Spider g. Nereis
Which of the above animals have an open blood circulatory system?
(1) a, candgonly (2) aand conly (3) b and e only
(4) b, d, e and f only (5) dandfonly

11. Which one of the following statements regarding SA node of man is correct?
(1) It is located in the wall of right auricle close to inter—auncula.r septum.
(2) Purkinje fibres originate from it.
(3) It is stimulated by the impulses received from the paccmakcr of heart.
(4) Stimulus for heart beat originates from it.
(5) It consists of nervous tissue.

12. Which of the following is not transported by phloem tissue in plants?
(1) Potassium ions (2) Phosphate ions (3) Vitamins
(4) Nitrate ions (5) Herbicides

13. The graphs below show the effect of various factors on the rate of absorption of chloride ions by discs of
carrot tissue from a solution in a flask.

b b i A
Rate of Rate of ** ‘Rate of
absorption of absorption of - absorption of
chloride ' chloride chloride
ions ions ions
O2 concentration Chloride ion concentration Glucose concen trati(;=
(a) (b) (c)

Which of the above graphs support/supports the hypothesis that chloride ion absorption by carrot tissue involves
active transport?

(1) aand b only - (2) b and c only (3) a and ¢ only

(4) a, band c (5) c only

14. Which one of the following statements regarding the end products of nitrogenous excretion is correct?
(1) Urea is the least toxic nitrogenous waste product in vertebrates.
(2) Excreton of urea requires a large amount of water due to its high solubility.
(3) Due to excretion of urea, loss of carbon from body is high.
(4) 'Main nitrogenous excretory product of aquatic birds is uric acid.
(5) Creatine is a nitrogenous excretory product of mammals.
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17.

18,

19.

21.

AL/2013/09/E-1

If proteins are present in the urine of a person, which of the following structures could have been damagéd®

(1) Bowman’s capsule (2) Proximal convoluted tubule

(3) Descending limb of loop of Henle . (4) Ascending limb of loop of Henle
(5) Glomerulus '

Which one of the following statements regarding human skeletal muscle contraction is incorrect?
(1) A motor nerve stimulation is essential for its initiation. '
(2) Cross bridges are formed between.myosin heads and actin binding sites.
(3) Actin filaments shorten.
(4) I-bands shorten,

(5) Calcium ions are essential for the formation of cross bridges.

Which of the following statements regarding human pelvis is incorrect?
(1) Pelvis is a basin-shaped structure formed by sacrum, coccyx and innominate bones.
(2) llium is the largest bone of pelvis.
(3) Acetabulum is a deep lateral depression in the pelvis. .
(4) Pubis bears most of the body weight when we are scated.
(5) Compared to the male pelvis the female pelvis is more shallow and rounded.

Which of the following statements regarding nervous systems is correct?
(1) All multicellular animals possess a nervous system.
(2) Neurone is the functional unit of the human nervous system.
(3) Parasympathatic nervous system prepares a person for an emergency.
(4) Resting potential of a human motor neurone is about —40 mV.
(5) Larger the diameter of an axon, faster would be the speed of conduction of an impulse.

Which one of the following statements regarding the action potential of a neurone is incorrect
(1) It is a transient reversal of polarity of axolemma. :
(2) A threshold stimulus is required to produce it.

(3) Its depolarization phase is due to influx of Na*.
(4) Na* K* pump is not essential for its completion.
(5) It is self propagating. :

Which of the following statements regarding homoeostasis in man is incorrect?
(1) It is the maintenance of a constant intemal environment.
(2) It is mediated via negative feedback mechanisms.
(3) Blood urea level is homoeostatically regulated.
(4) Liver plays an important role in homoeostasis.
(5) Homoeostatic mechanisms.are mainly involuntary.

Some parts of human brain and their functions are given below. Which of the following
“part of the brain - function” combination is Incorrzct?

(1) Hypothalamus - Regulation of hunger

(2) Medulla oblongata - Regulation of rate of heart beat

(3) Cerebellum - Regulation of ‘posture

(4) Temporal lobe - Regulation of speech

(5) Thalamus - Integration of sensory information

Which of the following statements regarding human lactation is Incorrect?
(1) It is the production and release of milk from mammary glands.
(2) Oxytocin is involved in the milk ejection reflex.
(3) Progesterone suppresses milk production,
(4) Baby's suckling is essential for maintenance of milk production.

(5) Human placental lactogen enhances milk production.

WhiCh of ithe follo - staternents ‘e human ol
(1) Inhibin inhibit ﬂ:cwcradonaﬁ.‘ﬁ,s male reproductive system is correct?

(2) Vas deferens is the main site of sperm storage!

(3) Capacitation of sperms occurs in the epididymis..

(4) Bulk of the seminal fluid is produced by prostate gland.
(5) Seminal vesicle secretion is a rich source of prostaglandins.

3
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- Which of the following groups of organisms appeared on land first?
(n Coni-fers : _ (2) Insects ' (3) Amphibians
(4) Angiosperms (5) Spiders :

3.

_ G et A
Which of the following statements regarding human reproduction 1; co:;? radiata.
(1) Acrosome reaction of sperms is necessary for penctration 0l €0

s

(2) Cortical reaction of ovum prevents polyspermy. ; :

(3) During ovulation a primary oocyte is ejected from Graafian follicle. E‘

(4) Fertilization should occur within 48 hours after ovulation. .E

(5) Oogenesis starts after puberty. E
In angiosperms, meiosis occurs during the formation of B 3 e

(1) pollen mother cells. (2) embryo sac. 3) mcsmppmnsﬂﬁ

(4) megaspore mother cell. : (5) nuclei in the pollen tube, @
In Selaginelia, -meiosis occurs during the formation of

(1) spores. : (2) gametophyte, (3) gametes.

(4) sporophyte. . (5) embryo.

Which one of the following features distinguishes Nephrolepis from Pogonatum?
(1) Presence of well developed vascular system
(2) Absence of hieterospory
(3) Presence of alternation of generation in the life cycle
(4) Requirement of external water for fertilization
(5) Nutritionally independent sporophyte

L S
In mice, grey fur colour (G) is dominant to black fur colour (g). Expression of colour is determined by another
gene with a pair of alleles where the dominant allele (C) expresses colour and recessive allele (¢) indicates
albinism. When a grey coloured mouse was bred with a black coloured mouse, the resultant progeny had a
phenotypic ratio of 3 grey : 3 black : 2 albino. Which of the following indicates the genotypes of the parents?

(1) GGCe x ggCC (2) GGCC x ‘ggCe (3) GGCe x ggCe
(4) GgCC x ggCe - (5) GgCe x ggCe
A man of blood group A married a woman of blood group B. Their first child is of blood groap O. The
identical twin sister of this woman married 2 man of blood group AB and the possible blood groups of their
children are . - :
(1) B and AB only. (2) A and B only. (3) A and AB only.
(4) A, B and AB only. (5) A, B, AB and O.
If a DNA molecule contains 8000 nucleotides. of which 20% dre adenine, the number of guanine nucleotides
present in this DNA molecule is i
(1) 1600. (2) 2000. (3) 2400. {4) 3200. (5) 1000.

Which of the following is not a current application of genetic engineering in plants?
(1) Production of plants resistant to herbicides
(2) Production of plants which can fix nitrogen
(3) Production of plants with insecticidal proteins
(4) Production of plants resistant to viral diseases
(5) Production of nutrient rich plants

Which one of the followin
(1) Leatherback turtle
(4) Lamp shell

g animals has the highest risk of\becoming extinct in the near future?

(2) Asian elephant (3) Giant tortoise
(5) Blue magpie G

Which of the following Acts and Conventions has helped
(1) National Environmental Act
(4) Ramsar Convention

most to protect the environment of Sri Lanka?
(2) Fauna and Flora Protection Act  (3)°CITES
(5) Biodiversity Convention

_F
[see page five
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35. . Some air pollutants are given below. . g i
a. Carbon monoxide b. Sulphur dioxide ¢. Oxides of nitrogen =&
d. Hydrocarbons _ e, Chlorofluorocarbons f. Ozone o
g. Particulate matter ' ‘ P
Which of the above pollutants aggravate asthma? 1C
(1) a,b,cand g (2) b,c,dand f (3)¢c, d eand f E
(4) b,c,fand g (5) a.cdand g o
36. Which of the following is normally used to demonstrate microscopically, the presence of live yeasts? —.D"
(1) Soil suspension (2) Toddy sample (3) Yoghurt ©
(4) Pond water (5) Piece of bread soaked in water
37. V'hich of the following genera contzins facultatively anaerobic microorganisms?
(1) Acetobacter ' (2) Azotobacter
(3) Clostridium (4) Saccharomyces
(5) Lactobacillus ’
38. Which of the following sites in a healthy human body is not a natural habitat of microorganisms?
(1Y Skin . (2) Lungs
(3) Small intestine (4) Buccal cavity
(5) Genital organs
39. A person who had an infection of measles rarely develops the same infection again. This is an example of
(1) nonspecific immunity. ; :
(2) anificially acquired passive immunity.
(3) artificially acquired active immunity.
* (4) naturally acquired active immunity,
(5) naturally acquired passive immunity,
40. Viruses are different from bacteria because viruses
(1) cause diseases in plants and animals.
(2) have RNA and DNA.
(3) do not show a cellular organization,
(4) cannot be cultivated in the laboratory.
(5) are widely distributed in nature,
® For each of the questions 41 to 50 one or.more of the vesponses is/are correct. Decide which response/
responses is/are correct and then select the correct number.
If only A, B and D are correct 1
If only A, C and D are correct b &
If only A and B are correct 3
If only C and D are correct a &
If any other response or combination of responses is correct.... 5
Directions summarised
1 2 3 4 5
A, B, D A,CD A, B C,D Any other response or
correct. correct. correct. correct. combination of responses correct.
41. Phosphorous is a structural element in which of the following?
(A) Protcins (B) Carbohydrates
(C) Lipids (D) Nucleic acids
(E) Chlorophylls
42, Which of the following features is/are common to both DNA and RNA?
(A) Both are polymers of nucleotides. '
(B) Both have identical sugar molecules.
(C) Both are genetic material,
(D) Both haye pyrimidine and purine bases, .
(E) Both are double stranded. Ry
\_
LS '-/ -
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43. Which of the following statements regarding the human skeletal system is/are Inco ? —
(A) Both parietal and frontal bones of the skull are paired. _ . o3
(B) Cervical curvature of the vertebral column develops around 7-8 months after birth. - ‘E-,
(C) It plays a role in homocostasis, £
(D) It produces both red and white blood cells. E
(E) There are two longitudinal arches in the foot. o~
44, In which of the following plant movements the direction of the stimulus determines the dimction‘Ebf
the response? g
* (A) Phototropism (B) Geotropism
(C) Nyctinasty (D) Thigmotrori-m
(E) Photonasty ' -
+{45. Which of the following hormones of man act/acts on bones? 4
(A) Growth hormone (B) Erythropoietin
(C) Parathormone (D) .Thyroxin
(E) Adrenaline
46. When stretch receptors of lungs are stimulated
(A) stimulation of apneustic area in Pons Varolii is inhibited,
(B) stimulation of inspiratory area of medulla oblongata stops.
(C) stimulation of pneuomotaxic area in Pons Varolii is inhibited.
(D) expiratory area of medulla oblongata is stimulated,
(E) stimulation of chcmoreceptors_ in porta stops.
47. Some categories of species, examples for these categories and the habitats of these examples are given in the
following table, ; . -
Species category Example Habitat
I. Invasive species i. Chitala ornata a. Fresh water bodies
II. Migratory species ii. Eichhomia crassipes b. Marine water
OI. Indigenous species| iii. Caretta caretia c. Rain forests
IV. Endemic species iv. Caryota urens
Which of the following combinations is/are correct?
(A) I, iv, ¢ - (B) Iv,iii, b ©) Lii a D)L i a (E) I, iii, a
48. Which of the following microorganisms cause/causes diseases when contaminated water and food are consumed?
(A) Mycobacterium tuberculosis (B) Leptospira interrogans
(C) Polio virus (D) Salmonella rvohi
(E) Clostridium retani
49. Which of the following microorganisms use/uses organic chemical compounds as sources of both energy and
carbon for growth?
(A) Nirrobacter - (B) Nostoc (C) Saccharomyces
(D) Pseudomonas (E) Nitrosomonas .
50. Which of the following is/are not surrounded by a membrane?
(A) Nucleus
(B) Lysosome
(C) Ribosome -
(D) Plasmid
(E) Peroxisome
#e 3 4
- v J
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Part A - Structured Essay : ,.
Answer all questions on this paper liself.
(Each question carries 10 marks.) .

1. (A) (i) Indicate in the table given below:the five major blochemieal protesses involved in the natural
decomposition and cycling of nitropenous compotinds in célumn X, corresponding biochemical
transformation of each of them in column Y and one microorganism responsible for each of
the transformations in column Z,

X Y Z

(.) ------- L T T T - Sassmmsnsnan smssanneny GIFsESsERsRERsas sesAsEsIRSeRIRERRERIRINRRIRES
[+ ) (R R — R I AT Ty e i I 1. = el
(Q) srissnsiatonsn PR R NN LRI L TN (O PR CTcre (I RIS AUt S0 = AR Ao
.!’. [}
@ ..o : i
L L T T S TR L ] oI o o T L T
(e) LR R R R L Ll N R R R R R R R ] IR R RN RN RN R R R R R R R R L L

(ii) In what chemical form do plants generally obtain nitrogen from soil?
(iii) What is the major compound which mpplhltﬁtmgen to humans?
LA LR LA AL AL R L AL L) -.....I..CDIll.....I........'l..IiI'.II!D‘?’.II"?.IIIID llllllllllll R R R R R L ) sdssnnesnsnns

‘

(B) (i) What are the adverse effects of discharging large amounts of waste water into natural water
bodies? :

lu
--------- T T T L T R e R LR L
------------------------ T T L L o L L
'
T T L Ll L R L e L L L L L LT T T T P P T T sensann

(ii) Many industrial waste water treatment plants use m';atagea of treatment, primary treatment
and secondary treatment to purify waste water,

(a) What happens during the primary treatment stage?

-n-no-o--.n--tc.atu..---c---..--nona:--....---.--nc--.on--.--c't‘np.n.ololo- -------- SESTEAEsENEST RS Rs s RaRE wrmas

(b) Name the two methods generally employed in the secondary treatment stage.

(¢) What is the major function of the secondary treatment stage?

............................................ M e e T R R R A L L L L L AL d

(iii) Some industrial waste water treatment plants employ ‘an anaerobic sludge digestion system.
Name two additional uses of such a system.

----------------------------------------- .-o--o----u--u-----o-calllnq_l----OOI.o------lool"-l!“'l“"'l---l--'tittﬂ

0

L L e e R L LR L L L Srinmansinnas I e R R L A L L R e bbbl b b
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(iv) Name the three major techniques currédtly used in‘the management of solid waste.

----- sEsissssnan
--------- R e T T T

.....
Tesavenme L Y Y YRRt ] *SEsssssensanensenianes R T R

b T .

- wr el

tasenas .
LLTET A T T T L] Passssamennn D T T T LT ey

(C) (i) What are the major portals of entry of pathogenic, microorganisms into human body?

---------------- L e R
Ssisdsssnay Sssssnses LR L sesssasss SessEsssssaERErnEn L R T Y L L R L R LA e AR S
"""" 0..!li’lb!!l'.olocoo.OI-tQ-q---c‘IUO:U'o.-olol--.-I-‘OltcoI-vooop--o--u--cclotnlt‘--l--¢-10‘0".'"‘"""""‘
------- R )

(ii) Name the four major nonspecifié defence mechanisms seen in the human body.

.

"""""""" T L e

L L R L e R R R R

LT L Y] L e e L L Sasasnnss SEsasssassn R

------------------------------------ L L R

(iii) Occurrence of infectious diseases in humans depend on invasiveness and toxigenicity of
pathogens. ~

(a) ﬁ’hat is invasiveness?

Iy L O T I

Il s e e P R R A R R R L R R L R R P )

LR LR L] I R R R A R L R R L L R R Rl L R ) SEssAERAeRENEEERARREN
.

(b) Name two enzymes that contribute to invasiveness and indicate the role of each of these.
Enzyme Role

L R L T srsreasmn BerasesssEnEnE . .

(c) State two differences between exotoxins and endotoxins.

L N L L L L R Y

(d) Name the two major exotoxins conhibuﬁng _tb pathogenicity and a pathogen producing
each of them. s

Do n;l\
write in
this

column

www.alpanthiya.lk




T S Bl N R g iy et et ey P ) v T

.....
1

AL/2013/09/E~I1 4. 4007 IndexNou............. il 28
r .

(i)

(iii)

(iv)

(v)

2. (A) (i) Presence of flower is 2 major distinguishing characteristic of angiosperms. Indicate five other

(vi) What are the adaptations seen in plants for cross-pollination?

major distinguishing characteristics of angiosperms. co

FerssssenssssenRnIns T T Frsmssnann Ty BessssmnmERnE Bessrsssnannn Frarssmansa sees
------ L T T LI L T L L
SEriessnsnannnan R T T I ] T T T T L T ) BrsEmsRERRRRRNS
--------------- |¢oo.---:--aan-oc--o—--a.a.o..oo.-.....................-...-....-..-.o-o-o-oou-o-.-no-.---l.lc--tolou
llllllllll O'!lO-OO-o---o--n-nu-.c-.-o.---------.--'------n--\uu--:--t--u-a.o-o-oa-----o--o-----------v.v'-----

The following are reproductive structures seen’ in gymnosperms. Name the corresponding
structure for each of them in the angiosperm ﬂowcr}.._.
=4 .

Mega;ﬁbmpﬁyll LR P, 2

www.alpanthi
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State the major characteristic features scen in thé life cycle of Selaginella.

."..'""l"""l"“’.""'“'IO".-'..CC.IDI'IIl.I. ------ SEsEBEEsanAnER R L Ny CE Y EELEE]

------- Y N T S R R I ]

R T T srssssans

L T LI !t..OIIl-.'I.‘.l'....'.l.ll..l..'.l.ll.‘.l.?.lill..l.l. --------- L T T T T .
SEBElSsssssnssssnnnnu e L e L N Ll bessns aesw Eaee . srsnasnenn -
BrssssssrvAsRsTRaRssEnn A L L R L T N L T LT TRt Eransnnn L

State the difference between cross-pollination and self-pollination.

------ AR R L N L N LI r T T

b L PN RN ST
L4

. '
R L R R R e e LTI

What is the:significance of cross-pollination in natife?
: > i

L ST I I e e T T T LT

=
---------- lli.----c--ol-------v--.cc..------..Oqc-.lI..-ll.l!..cI.lnct.l."...l-ll..l‘Ilnlicl..o-ltll-tclobtcl .
------ e e T T T T Y TN s - - sann T saaw
................. e (LT T 2 (Y T S SO G MM SN L0 1 S
............... .-'.....d.I'1."-.'Il..l-‘.-I.l..'.'l..lIl..'.l'...l..l.l‘..."'.’ll.tl'[.ll...ﬂ..'-.l..‘)-l..-II-I
Ssatsssnne wssbssnmanns BsrssssEmssnsnns CEARR R R B Fesssnsensnnnns O T L S i) Sebssssavsasasns
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i
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(B) (i) What is a seed? I

OYE-TL 5.

--------------------
----------------------------------------------------------------------------------------------

-------------------
----------------------------------------------------------------------------------------------------

------------
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ses .
--------------------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------

(iv_) Name a crop where parthenocarpy occurs naturally.

oooooo A L IR L

(v). What is parthenogenesis?

(vi) State how parthenocarpy is induced in horticulture and give an example of a crop where it
is practised ’

------------------------------------------------------

(C) (i) The major events/processes that take place ina nucleus of an eukaryotic cell during mitosis are

given below. Put a X mark in the appropriate column in the table to indicate in which phase of
mitosis each of the following events/processes occur.

Interphase Prophase Metaphase Anaphase Telophase

¢ Chromosome condensation  .cccevvrer serseeses

ooooooooooooooooooooooooooo

eDNAreplication =~ = - Geseses

------------------------------------

e Attachment of chromosomes t0  .........
the spindle

Movement of chromosomes ......... .

towards the spindle poles .- :
« Breakdown of nuclear mgmbmno ...'....F.. LU e L I,

---------------------------

------------------

Alignment of chromosomes at
the centre of the cell

---------------------------------------------

™ Cenmmm upmﬁon esesnssas .‘_;:‘\\-_..-:_‘._.... 154 -'.’: ..........................
¢ Reformation of nuclear membrane ......... % Seriiene et e Lbswibesl > S ostanpsits

it :ﬁ'l.‘il
Donot ]~
wrile in [\
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3. (A)

lecule
(ii) Name the enzyme that participates in.the synthesis of m-RNA molecule from a DNA mole l
during protein sym.hcsm i i o

]

FnEmanieen
L LER] L
EEEERRERAAR AR AR RN sesmmann LLLCL L] sEsasdRRARERARE.

S that would be symhes:zod
(ili) What is lhc sequence ot‘ nitrogenous bases in the m RNA sr.rand
) from a strand of DNA with the sequence of nitrogenwl bases TGAGCGCCI‘AMATT?

.......
pressansnsasaRsNTn
FESEBERIEERRIEIT RS R TR FEEAREEEENEESREREEREAEAENERRE R MEsssssrsraNTRRRE RS RAT AR R aRaS

(iv) What is the natural role of the following enzymes?

DNA wim LA AR R R L R R L T T L e e r e T T R R R R L R R R b i
Restriction endonNCIERES ....vcicivsrsisssssbrsnstossivasnesvnnionanssssussssshossssssvriveanssannd O A

ugm...-...u.... ----- sassan : ------------------ . -------------- T T T L L Ll L L T ] /\

(i) Some structures found in invertebrates are as. follows: - b

(a) Spines (b) An_tennae
(c) Suckers T ! (d) Tentacles
(e) Hooks () Radula

(g) Internal skeleton (h) Pedicellaria : ‘
Which of the above structures is/are found in each of the animal groups given below?
Cephalopoda . .............
Asteroidea )

Diplopoda
Gastropoda :
Trematoda

e

E T T I

Crustacea. @~ T T

Scyphozoa

L T T T

(ii) Complete the following dichotomous key to identify chiton, snail, octopus, oyster and slug.
1. Shell is absent ROWES. AP
Shell is present Siiinai ot e naaiiiinl S

2. Siphon is present = .......

Siphon is absent '

3. Tentacles are present

Tentacles .are absent

4. Head is present

Head is absent

(ili) Which of the animals given in (A) (ii) above is/are immediately affected due to pollution
caused by ships?

SEAERARTRA RS s anaa

.....................

e e Y

(iv) What is the mtcmanonal convention/protocol which hclps to control the pollution caused by
ships?

- . -
L b L e L L T L L L T

R e T
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(i) Name five greenhouse gases,

e L L T T P YT T

A A L L L L L T LT T T T

(i) Explain how greenhouse gases contribute to sea level rise.
LT L T T . - - - LR L e T L] e - Srsssarnncen thee
*Rssssssantnnnns Stennssvennansennsssnncsnnsesfocansnesenssssarnsnnnsansans Sasssssns Ry T mmnm

(iij In addition to sea level rise, what are the other consequences
zases?

-------------- e T e T NI IR LIy
Fessssmann Frssamans dsssssransrnnns EE LTS BEsEERERREE S T T T T T T BEssssanasnen sees
srssmannn - LT wea sase e R T Y L Ry
LR T Shssasnnn b e L R TR R T L Hesssanmnn
.! ----- sesnes Wrssssrnanan sassmanan e L A r L LT L LT Py Bisdnne e trssssnnannnn
LLL LT tessssnans LT e R L T P e messsssssEnssenmnann L .
Tessssamann i L T T e L T .
fEsssesssRRrARSREREES b L L L L L T LT T T T T T BEEs N ANa BRI s s
"clc-.l....l.l-lll.ll.l.lll.slll‘..l...Ic.o...-.‘.t...‘.--ll.l.l.!l.,.....ld...l--loo ooooo L T T T T T T I I
SrsssssssssssERRER AR R R AR R R Y s . SrsssssvessNssssnansnnEsana »

(iv) Wimt is the mlemaﬁonal aonvmuonfpmlocol which helps to control the emission of greenhouse

gases?

e T R I

SlNsassEsssssstresTtaTnan ISR Rt n s

LLE LT T T P . Ilnlo-nqo-lcao-oooaouc-llcuaco----b---.oluo.

iocnl..lvl-..-.l|l-na---'lu}-tI!".Dl..llllqla.lol"...lln.l

(i) Give one example for each of the following.
(8) Non-living renewable resources
() Living renewable resources
(c) Non-living recyclable mswmca e
(d) Non-living non-recyclablé resources | %
(iii) What is meant by sustainable utilization of natuml tesourccs?

C emARsRstssRssanssnns

felnsnsessvsesnssnignsine B L LTI T T T Ty

0DJ-.l’tlt.o.tll.itl.llll-ll-ﬁt!.l .

’..fl-l.c-lll‘I.-OOC-.|OII-.l-.lll--DQDIOI.Dl.-.o.bl-l....tl'lll!‘..l.l;tlnlltli

LA L Y T

e L T T T T

------- TENESAssesassn RN RNN RN T Rang

L L T T Ssnwnaw

b T T eI

L T T LT Fesesnnsa
A T R LRI

i
ccnooc.-n||| a.n----. -------

b AL L L L EL L LT T o R senns

-o-ulnnlnqo.--.ctotolodlrl-!lcg-

Do nc;t\
write in
this
column

of the emission of greenhouse

RS idresnEnanRtRERas

LR Ty

SRl Nisssssr st st e R Y

SEsissansnEanE

IIOI!QI.-.I.!I!III

[ o
g |

R e L L T LTI T

seany

[see page eight
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4. (A) (i) What is the basic physiological feature of muscles? |
llllllll BrdprRssaradrnn mn
------------------------------------------------------------------------------------------- ﬂ
(ii) What is a muscle fibre? .E."
X
-------------------------------------------- 7 R L e R L -E
(iii) State three physiological differences between. human cardiac muscle fibres and skeletdl muscle| @
fibres. _D-
’ o
Cardiac muscle fibres Skeletal muscle fibres B
(B) sossmpisananaussrshinvivesssinbesissinioniossssmnalons gheRihl © wivessssavesesib b seatseiaRsbauENb e R AR
cb) --------- et il Ll T T T T VO T Tt Sty I LS g s E ey iy R U S S PO RS Ao
o ST ST R A C T S SO Uy IREC RN 1.5 R e St P RN e et vis
(iv) State three structural differences between human cardiac muscle fibres and smooth muscle fibres,
Cardiac muscle fibres Smooth muscle fibres
UR) sauvisensniinoiailIOOES 557 s svisvntadaseiitunmunt WO ST
(b) ---------------------------------------------- L P
(c) ----------------------- Bessssrassnsaneanany L T L L T T T TR LT T e
(v) According to the sliding filament theory what happmn to the length of A-band, H-zone and
I-band during skeletal muscle contraction? ¥
‘Length
(a) A-band - EE——— M Epeees 2
(b) H-?.Olle Mersassssnssnnnes ShEsssterstsintenssannnne
©) Foand W R  ......oooo T coceiicdntnticronnconnes
(vi) What is the by-product of muscle contraction used in homoeostasis?
(vii) Name two hormones which act on human skeletal muscles.
(B) (i) What is an animal hormone?
(i) Why is acetylcholine considered as a neurotransmitter and adrenaline as a hormone?
L-

fepp nace nin



oooooooooooooooooooooooooooooooooooooooo

------------------------------------------------------

------------------------------------------------

---------------------------------------------------------------------------------------------------------------------

(vi) For each of the hormones of man given below state the site of production and one main function. | -

Hormone Site of production Main function
(@) Growth hormone  .....cvcevcvennen snisavisvasisnie T LA s So v v T AT SR SRS AN
(b) Oxytocin e E s s
(c.‘) corﬁml ...Cl“.l.....llt;..l.’.l. llllllllllllllllllllllllllllllllllllllllllllllllll
(d) Glmson eesesssssssennssseestnses SEsRESAIAEE 020 BESsIsESAEsESESASESESSSASATESESsssssses
(e) .n‘y!nmm SEsessRRERAREARRRRE S IR R TR R R R R R L) = L R R R
(C) (i) What are the essential components of a bloed circulatory system?

(ii) Name the three components of ﬁa.cmdndhglmm of human heart.

-------------------------------------------- T L e L R

ooooooooooooooo
------------------------------------------------------------------------------------------------------
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3 ' Biology
Instructions: ' i Part B « Homiy .

.alpanthiya

# Answer four questions only.
Give clearly labelled diagrams whem necessary.
(Each question carries 15'marks,)

5. (a) Describe the basic chemical nature and functions of pmteiﬁs.
. (b) Explain briefly the role of RNA in protein synthesis.

6. Write an account on blood pressure of e, If’ -

H % !}‘ - e

7. (a) Describe briefly the global lmporume of phowsynﬂnsls.
(b) Explain the role of light in photosynthesis.

8. () Explain what is meant by Biadiveesitys 2
(b) List the causes of loss of biodiversity, '
() Briefly describe the measures taken fo conserve biodiversity at the national and global level.

9. (a) What is recombinant DNA technology?

(b) Describe the major steps involved in the production of a reeombinant bacterium that can produce a useful
animal protein.

10. Write short notes on

. (a) Salivary glands of man
(b) Methods of sterilization used in microbiology
(c) Montane forests in Sri Lanka

oo .“H
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